. Word Problems
Name: Up to $4

( Counting Money )

Dominic has 1 one dollar bill, 6 dimes, and 5 pennies.

How much money does he have?
(Draw a picture to find your answer.) answer:

Jocelyn has 1 one dollar bill, 5 quarters, 4 dimes, 6 nickels,

and 4 pennies. How much money does she have?
(Draw a picture to find your answer.) answer:
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Landon has 6 quarters, 2 dimes, 4 nickels, and 3 pennies.

How much money does he have?
(Draw a picture to find your answer.) answer:

Isaiah has 3 one dollar bills, 1T dime, 5 nickels, and 6 pennies.

How much money does he have?
(Draw a picture to find your answer.) answer:

Who has the least amount of money: Dominic, Jocelyn,
Emily, Landon, or Isaiah? answer:

Super Teacher Worksheets - www.superteacherworksheets.com



ANSWER KEY

( Counting Money )

Dominic has 1 one dollar bill, 6 dimes, and 5 pennies.

How much money does he have?
(Draw a picture to find your answer.) answer: $1 .65

.

Isaia

How
(Draw a picture to find your answer.) answer: 53_':”

Who has the least amount of money: Dominic, Jocelyn,
Emily, Landon, or Isaiah? answer: ___Dominic
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